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The paper attempts to point out Kos����P�������������D��2��2����������"������J�'�������?
�2��'������������������������ ��������2��� ��������� ���������2��� ��D�����>���������6����2��4�
�������4��2������������������������������ in his kons’s, “focusization”, and meaning. He also
defined constructivism and delineated it from constructiveness. Eventual publication of the
kons’s in the never realized journals Konstrukter and KONS would have had a very provocative
effect. Since he could not coordinate this kind of poetry with the political responsibilities that
were expected of him by the political left, which he became very close to in mid-1925, he
started, simultaneously with writing kons’s, “new work”—integrals, which triggered an imme-
diate response with their social and political orientation. Kons’s do not belong to integrals, as
has been incorrectly stated by literary criticism. If Kosovel’s strategizing with his environment
required that he hide his radical poetic orientation, his political position forced the government
to forbid his public appearances, which so unfortunately coincided with his untimely death.
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